
Spur year
loads : 6 = 20 °, dp = in

, da = 3 in

Nin = 1800 upm

Pin = 10 Up

↓ torque arm

Tin = = - W
-

input force

· Wi = Pinion pitch circle

*
↑

in
= 1800 rpm x = 188 . 5 rads

Pin = 10hp x col. 550016 · It/s
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W- = We +an d = 210 . 1 x fun 20 = 16 . 51)



Free-bodydingram

Z

T : Ay
- L

#Ne·L >
- R

Bz

-yplane
Y Ay We

I I 5 in

↓ Please ↓ ↑
Be

A 1 5 in By
----

&⑤ ---T
M 5 in 5in

IWr

-

2F = Ag + By + Wr = 0 0 [Fz = Ac + Be - Wo = 0 &
I

& My = 5Wn + 10 By = 0 ② zma = - 5 . W + + 10Bz = 0

Solve 0. 8
.

8. G => St = B= Ay andBy art in
y

direction as expected ,

Bearing reaction forces

A =J+ Ac = 111 . 816

B-
=J+ By = 111

.
816

3 -> radial componea reaction force

axial
componentAn=

0
-

of bearing reaction ora


